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r (4)_ 3) .
3_Seat_Enquiry.panel: Reservation Seat Enquiry

/_\ from

Display Seat Enquiry Panel

1 until
’ not (wrong answer or wrong choice)
2 do

Read user’s answer for current panel
Read user’s choice for next step

- if wrong answer or wrong choice then
4 Output error messages

’ end
5. end

Process user’s answer

6. case in

2: goto 2 Flight_Enquiry_panel
3: goto 4_Reservation_panel
end
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(2)
Flight Enquiry

3)
Seat Enquiry

(4)

Reservation

s: STAT.
creaté {SEAT_ENQUIRY} s.make
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deferred class STATE
read
—-— Read user’s inputs
-— Set ’“answer’ and ’choice’
deferred end
answer: ANSWER
—-— Answer for current state
choice: INTEGER
—— Choice for next step
display
-— Display current state
deferred end
correct: BOOLEAN

d ed end
‘processi

(cequize correct]

deferred en ~
message |

reggire[not correct ’
deferred end

STATE

SEAT_ENQUIRY} s.make
Sar¢

create({CONFIRMATION} .make

sS.execute

execute
local
good: BOOLEAN

choica

good .= _correct
if ot good %hen

(messagel

end
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class APPLICATION create make
feature {NONE} - Implementat
transition: ARRAYZ|[INTEGER]
State transitions:

states: ARRAY[STATE]

ion

transition/[state, choice]

—-— State for each index, constrained by size of
feature
initial: INTEGER
number_of_states: INTEGER
number._of_choices: INTEGER
make (n, m: INTEGER)
do number_of_states := n
number._of_choices := m
create transition.make filled(0, n, m)

create states.make_empty
end
feature

put_state(s: STATE; index: INTEGER)
require 1 < index < number_of_states
do states.force(s, index) end

choose_initial (index: INTEGER)
require 1 < index < number_of_states
do initial := index end

put_transition(tar, src, choice: INTEGER)

require
1 £ src £ number_of_states
1 £ tar £ number_of_states
1 < choice < number_of_choices

do
transition.put(tar, src, choice)

end

invariant

transition.height = number_of_states

transition.width = number_-of-choices

of T‘rrj;jsirion GI:TY oh MM@MWMA %d‘llﬁ,

‘transitio
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test_application: BOOLEAN

local
~>app: APPLICATION ; current_state: |STATE|; index: INTEGER
do

2

—> create app.make ((é), € # &
—> app.put_state (create {INITIAL}.make,@

—-— Similarly for other 5 states.
—>app.choose_initial

—— Transit to FINAL given current state INITIAL and choice
> app.put_transition (6, 1, 1)
—-— Similarly for other 10 transitions.

—> index :=

(2)
Flight Enquiry

3)

Seat Enquiry

current_state := app.states [index]

Result := attached {INITIAL} current_state
check Result end > [l SGfP- E,%
t

—o Say user’s choice is 3: transi m INITIAL to FLIGHT_STATUS

I index := app.transition.item 2 3
current_state := (app.states 6 5 2
—=Result := attached [F \current_state J/ Iﬁ/ 2 1 3
end <& vyout_ Set@. al {
e -éVL JZ, _\/ state 2 4
— 4 3 5
5 4 1
é S APPLICATION
Q wt_ €18 ]4 () transition: ARRAY2[INTEGER] 1 e 3 4 5 6
W" }7 < states: ARRAY[STATE] app-states ) | | [

9 —
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FINAL
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app

—

APPLICATION

transition: ARRAY2[INTEGER]

choice

HWIN| =W,
=y dWIN|w

app.states

states: ARRAY[STATE]

feature
execute_session
local
current_state: STATE
index: INTEGER
do
from
index := initial
until
is_final (index)
loop
current_state := states[index] ——- polymorphism
current_state.execute -- dynamic binding
index := transition.item (index, current_state.choice)
end
end
end

FINAL
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get reminders: LIST[EVENT]
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